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NAME: ROLL NO:

CLASS: SUBJECT :
TOPIC:- INTEGERS

Q1. Write all integers between the given integers.
-3and 2

Q2. Give the opposite of Profit and Increase

Q3. Write four negative integers a) less than 4
Q4. Add the Integers

(@) -18,-56
(b) -23,-6,34
Q5. Simplify

(a)-400 + (-456)
(b)20, -30, -10, 40
Q6. Subtract the integers
(@ -70,50
(b) 17,-17
Q7. From the sum of 145 and -65, Subtract the sum of 46 and -115
Q8. Multiply
(@ 11,-4,5-6
(b) 24,-9
Q9. Suman sells 5 pens at a loss of Rs 4 each and 8 pens at a profit of Rs 4 each.
What is his overall profit or loss?
Q10. How many Integers are there between -12 and 6
Q11. Write Integers
(@) 40 m above sea level

(b) 7 steps behind the finishing line
(c) Win by 6 goals

(d) Loss of Rs 5000
Q12. Perform the calculation and draw the number line
(@-1+4

(b)1-3
(c)1+3
(d)-1-5
(e)-5+8



